How could I solve this number sentence?

6+2=

What could T use to help me?




How could I solve this number sentence?

10+3

What could T use to help me?




How could I solve this number sentence?

14-2

What could T use to help me?




How could I solve this number sentence?

20-8

What could T use to help me?




@ OO @ Canyou help me colour the square matching the colour
to the number.

14 =red 20 = vyellow 18 = green 16 = black 12 = white
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DDADDD 6+6 | 20-8110+2| 7+5 | 15-3 | 9+9 [11+1| 8+4 | 15+3

4+8 13-1 | 18-6 (10+2 | 5+7 9+3 20-2 | 20-8 | 19-1

2+10 | 5+7 17-5 | 16 -3 1+11 | 14-2 | 15-3 | 4+14 | 10+ 8




Activity:

Colour in the squares the colour that matches the

number's Christmas Maths Mosaic

Addition and Subtraction to 20
Solve the math problems to reveal the hidden picture. Each answer has a
special colour:

14=red 20=brown 18 =lightbrown 16 =black 12 = white

6+6 |20-8|10+2| 7+5 |15-3| 9+9 [11+1| 8+4& |15+3

4+8 | 13-1|18-6 |10+2 | 5+7 9+3 |20-2 | 20-8 | 19-1

2+10| 57 17-5 | 16-3 | 1+ 11| 14-2 | 15-3 |4+ 14 | 10+ 8

6+6 |2+10|19-7 | 7+5 9+3 |10+10| 15+5 | 16+4 | 9+3

13-1 9+3 |1+411|20-8 [8+12|8+12|11+9|19+1|17+3

15-3 | 13-1 | 2+10|2+18 [16+4& | 17-5 6+6 |10+10| 15+ 5

5+7 |10+2|15+5 |10+ 10| 14+6 | 8+8 | 20-8 | 8+12 | 7+13

B+4 9+5 |12+8|3+17|11+9|13+7 |18+2|2+18|12+8

15-1 6+8 | 14+6|12+8(19+1)10+10| 15+5|7+13 | 4+8

13-1 9+3 | 20-8 | 17-5|8+12|15+5|1+19 |10+ 10| 18-6
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